o8

—. r—0r, E—8, TEEXG? (10 4)

4. (] 5.

RIBE DM - E= M

ARAT

o

ke

79



—. =,

80

= © 00 N o 0o k& 0 DN =

. ARAF
A%
fomon:
7R 2%
ARG
GE(
NI

> > > > > > > > >

w0 W W W W W W W W W

 ANHF
ARZ

N ik
AR AL
=40

. —7e

. B
R R
. E R

e

O 000000000

B—8E, TEMNTEXTRY? (20 47)

R
= 5
N

N }‘L

&
i~
O~

RIBE DM - E=



S EES

—. E—IETEMNRAF, FFWITEXTR? (10 4)

1. KA R ZPEGFA,

A. & B. #F C. 3w
2.  REETEARE?

A. 14 B. &4 C. 7
3. XA AE

A. FA 1) B. % C. %
4. PNERFEIT  RARAT

A. A B. A1 C. &
5. &%F I E—AITHEIK,

A. & B. A= C. —#2

—.F &, B8, TEaWi X892 (10 43)

1. F: T Heeg?
4
A. & L, B. 3fF 4L C. %

81
RIBE DM - E= M



82

2. F: MNBEAARE?
B
A. X AN R
B. K##ET LG
C. AR/BZ 5o 5 84
3. F: SRFEMGREAILT ?
B .
A RwEHRY
B. X & o¥ H
C.RE=2~HET
4. F . FROIEEZAT LM T
B
A, EE 6 A @
B. & 4RAT
C. ~E £ EIReT@
5. F: g AED?
B
A.RRZEL B ARFLEE

C. RERFHHR

RIBE DM - E=



—HAF K

—HF RIR

— 3 2

— 5B T

RIBE DM - E= M

—Fe R T
—xE
—ER e 1E
— 18
—%4 3k

83



88

—. F—F. B8, BT FHHEs~—#F (10 5)

1. A% B. 2 C. % D. J#
2. A Xt B. 2 C. XX D. sC
3. A #F B. % C. % D. F
4. A. B. = C. D.

—. BEEXF: (1047)

1. (pinggud) 2. (chd)
3. (xidngjiGo ) 5. (hou)F
4. (yifu)

84
RIBE DM - E=



=, ERAET: (10 43)

SNEE L o
NER KRG
SRMAMETES

B ERMEE  FHEA

XK $ T

a b 0D~

M. BEXFEHF: (10 47)

B ER A4 1)

i 7

CES

Wit AR AT 2

RIBE DM - E= M




